. / / ~
6kFN . W/LSZ%) Jé{dU{’/‘ ..JL/

m ZF,L:O —> Ar)(:——éKr\/

Y

o Aq

& iDZMA =0 —>

— X2+ CYyx g xrL =0

C%;/

%4103 =28 —>— C%:¥K/\/

= Fyeo == Ay_3 . oy, —> Ay = 8.Cy -8 7. Tkl

Ty - _
Z Y = —_— f’cD.(__?K(\};o —_— F:C,O :F?\CN

ZFX =0 —> E-FQD '5;»’\'15‘ ——FED o —>

P -1 | - -
6- 72 r12 g — Fep V| Culess U s

= Foze —

"0 .
A — FEA X S\nA%D =

_1“FEAE :B’? FEA-—\I;
2

L Cths, Lot



o
2_Fy —> €8 EA >

(2 ~fm+ax¥2 oo |Fg =1

Z:FQL:O_'

Fag — 6 —VZ % eas45 = v —»

D




3-19. Determine the force in members JK, JN, and CD. CD)j/V ¢ JR (;,}! 2)/
State if the members are in tension or compression. Identify / N

all the zero-force memberrf.. ............................ U) y (3;]4 S JC,:) ) )«J L{:,I L,
(> L

SRS ! »
ks u’/ Sy (

()
—_—
—
—

&

[ .
""""" === Fw////*" AN T A
A 2k 2k >%MCZJLU.//U‘J/, Ll
8 Prob. 3-19

yan | .

| Y O
9208 i il
2 Fo = —>—Ax= o Q//(Ifb,_/"
>~ Ma-=o — |Fy - 2p[—)p Ay < axp

}?K: —-0.8 )_‘:jN HE%KXO'L‘qSZ —FJNXO'3§(2>
0.495 T I T '
Fae = 4.0l <y i
(D (2) — et il
:f_-)ﬂ--; 2. 48 Ki@ _
tanot = _Q;D_ = & _>-| &—QGK.TIQ | tanY - _(té 9\(-'-3687’




5k

-y
%
DR 2

45°

E

!

4375k 4375k

- I FE  SAF ,JZ:JU,J»WWBD & s F

C
5k
F 45°
: — OF )]
P\ E
4375k
b

zwaezi.blog.ir



e
Si "

i ; =55 2.02 (T)

i ; ~1.52 505 (C -
i ; 1.79 1.79 (Tg\’ S
i ; 1.79 1.79 (T)

; ; —1.53 1.53 (C)

; ; —0.536 491 (C)

| . . -1.53 3.81 (T)

i DB —2.50 1.167 | ! 2.50 0

17 S 2307TTTTTTTTTEU230 —0.536 1.96 (T)

\ CB i 2.14 (T)

Zwaezi.blog.ir



12 ft

! 6 ft | 12 ft t— 6 ft—

Zwaezi.blog.ir



i Z/JJé'i’i"/ 3 Qf&b{)!fﬁ&»
Vi) L)_// u//,-j'—»/@ (!

M (9 - ” . (2
M (n) CIOC
- +C _ ) . ,
j EIwy 3 | =00 L2 v (3

9
j@(?‘)ﬂfu -|—C3'1+Cq: Y® dgz, ‘. . (4

wi,
3 LR
PP) N\P( m DJ/JIM/)I:’I// /’JU/,)/IJ@"// >
~ A
Pai L 5 sl Cats 215 15 Gl Ly
Ly, L,
YA 3 3
Z.F(j =0 —— ‘/A - \A__/_‘:’
3 _
2
N o - —— WL- Q_L L. = - _V:I_L
JZM"‘ = > | ?X(_i *-7) ' 8
ZFIK-O —_— PA =
T pT——
SWe W 5 "
{ . t o (%)
z‘ [ | 6 | c\—j tTgp :\ > Pcn)
T ¢ ; PN »4 L'./ » El:cte ‘9('
wl- ? 5 B Vx)
3 2
. 2 Mg=ze > | M) = -?.ﬁ‘.’-(—___w)’& o g w2k
3
|8 L
3
.
x-2L
T M,=0 — ‘§_‘_1V__L- w( 3) M
z‘ gh 3 PR
(o)
M(xy = —swL* ot ey, .3_):' T < XL pe—
' \ 3 / e Vo)
Cilg o )



Oy _

. \Y
-. —
\»
o
\»
N
N
N
XY

w’/ﬂ 3 u/ Jf e S
,,-/Lf,-l'ﬂﬂ(//&/)ujab

—swL* w3Lx_ w (0L~2L-) 2L <N LL
K3

5”\(%3 dne rey = S iWLM+S%‘z£&L+C o & L2l

'3 EXL EL 3 0 3
—--’—-7(.—\-_._%_ c o g AL 2=
1g EX 6 EI-*_ 3 3

Op =0 —> O => 5 (2 /e
} s v

9A =0 —> Y(o)zco 3

Wi,
ML o - sweecs »lass

€EL

B b3 /f'uz



......... N N
3(‘13 = 5@(‘*\30[9( -\-C—q ) {7(<2’3\—_-
2 3
Y = —-)is _L-iy-l—zz-r- "J%’: ><-‘5-9L +~ Sk
Yo) = —>— |Cq =»
5 L L_>3 oy /
o j 3 EL' gex e
5 L 3 2L 4 '
YD) = - w x]_x_ _1—WL7L. _ W (‘)t_____ +_c_q
= - 4
Y(l) - 3(2)73) == |Cq="°
-5 L'-Z _L.12-|— wl KL9(3 o< AL 2L
BY: 2 "6 EI 3 3
'8 EX
Y =
e
-5 WL Lx—(—WLvL____('% ) 2L excl
s EL 2 (3EX 24EX. 3
4
y( L) = > VVL x_‘-L 4wl x\_ (L) _163 wL
C = |3 F-'J'_ 2 \XEI- z‘fEL 3‘/ a4y

wf J/"u”b s



Zwaezi.blog.ir



